Eureka Math Grade 4 Module 3 Mid-Module REVIEW Assessment
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1. Draw an area modelto solve the following. Find the value of the following expression.
a. 20x40 b. 5x324
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2. Use any place value strategy to multiply. k (0 2 O
a. 3x75 b. 4x275
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Solve using a model or equation. Solve your work and write your answer as a statement.
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3. A movie theater has two rooms. Room A has of seats with 14 s%ts in %as.j\row
Room B has@eﬁhﬁefég@seats as room A. How many seats are thare inpoth\rooms?
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Thote are 347 St
in both rooms.

4. The high school art teacher has\6 cases of crayons wit 81D
elementary school art teacher has of crayons m

boxes of crayons do both teachers have Isy
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5. Last year, Ms. Petersen, rectangular garden had a fwidth of meterg and anfarea of 32 A= /()/Xw J
@ This year, %‘Wants to make the garden Garee times as longandfwo fimes e acll )
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a. Solve the length of last year's garden using the area formula. Then, draw and label the
measurements of this year's garden.

b[% :H§
Last Year This Year ’),\*\W\, L

A ,QtU\? Bx3=24
i 372= 2 xY Qe Widbth

32 e — _
L\ﬁ‘ square meters 32% Li - 9 Q‘ Y 2 ~ g
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S 20_{
b. How muchfor planting will Mr. Petersen have in the new garden’?
A=dpw 2\%
A=2M4x¥ X3

r. Petersen will have
142 Suoue metexrs

Lor planting in the na me on-
c. Last year, Mr. Petersen had aall the way around his garden. He can reuse all of

fence he had around the garden last year, but he needs to buy more fencing to go around this
year's garden. How many more meters of fencing is needed for this year’s garden than Iast
years?
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d. Last year, Mr. Petersen was able to plant-f carrots w1th( pla}m ea

year, he plans to’ planﬁNEe_as\mWr‘GV'vs—Wﬁh fwice as many carrot planti in each. How many

carrot plants will he plant this year? Write a multiplication equatlonﬁ solve. Assess the
reasonableness of your answer.
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